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E T [0 Fe 3EHT e B 2382141 |Zia % 2 H2 1.00
E I [ L5 L e 8 £ 2382141 |ERE 2 H3 4.0
E T [ L |- L S i 2382141 |Z 0% 2 Ha 3.00
E TN [ LR |- L S i 2382141 |Z 0% 2 Ho 360
E T [ L |- L S i 2382141 |Z 0% 2 H6 3.00
E T [ L |- L S e 2382141 |Z 0% 2 H/ 3.50
N |FIEE % S B 2382142 |Z:0% 3 8 2.00
. ¥ i L 2nas i 750
: A2 T = 2382142 |=B%E .
AT & I8 2382150 EQ%S o L0
30




[ tth4E 5 B EE iR

Hhig T4 |E BT 4 REXF HKERF &S [ #h 4 W | EEmE
p= 3 [T | R FEE AR T Be i = 2382150 |+ & H2 5.10
=3 [T DR FEE AR T Be i = 2382151 |+t8%E2 H9 2.00
=3 [T DR FEE AR T Be i = 2382151 |+t8%E2 H10 10. 00
=3 [T DR FEE AR T Be i = 2382152 |+ 2% 3 H16 4. 80
=3 [T DR FEE AT BHA& EEA 2382160 [H=F H5 8. 80
=3 [T DR LA NE zuls]n| 2383010 |5 548 5. 94
p= 3 [T DR LA NE zufs]n| 2383010 |5 549 4.00
p= 3 [T DR LA NG AHBUR 2383011 |[hEFE2 S50 1.00
p= 3 [T DR LA NE AHBUR 2383011 |[AhEFE 2 351 2. 85
p= 3 [T D61 L# NE KHBOR 2383020 |5 549 8.00
p= 3 [T D61 L# NE KHBR 2383020 |5 S50 12.00
=3 [T D61 L# NE zufs]n| 2383030 |&%1 351 9.29
=3 [T D61 L# NE zufs]n| 2383030 |&%1 352 5.00
=3 [T D61 L# NE zuls]n| 2383030 |&%31 353 5.00
=3 [T D61 L# NE Al 2383040 [/ 2 351 8.96
p= 3 [T D61 L# NE Al 2383040 [/ 2 352 6. 00
p= 3 [T D61 L# NE #E10R 2383050 |&= &K S55 9.00
=3 [T D61 L# NE #E1R 2383050 |&= &K S56 11.00
=3 [T D61 L# NE $21R 2383050 |&= &K So7 2.10
=3 [T D61 L# NE SLHI 2383060 |37 Al 357 5.00
=3 [T D61 L# NE SLHI 2383060 |37 I 358 5.00
p= 3 [T D61 L# NE SLHI 2383060 |37 I 359 2.00
p= 3 [T D61 L# NE LHI 2383060 |37 Al S60 3.50
p= 3 [T D61 L# fLE =1l 2383070 |#2EX S48 9.99
=3 [T D61 L# L =1l 2383070 |##EX 549 10. 00
=3 [T D61 NIIES LI IINEER 2383080 |/N# 4 iR S48 1.00
=3 [T D61 NIIES LI IINEER 2383080 |/IM# 4 iR 549 1.00
p= 3 [T D61 L J1F A INERR 2383080 |/IM#E 4 iR S50 6. 00
=3 [T D61 L J1F A =1l 2383090 |=#& 548 16. 50
=3 [T D61 L J1F A =1l 2383090 |=#& 549 15.00
=3 [T D61 L J1F A =1l 2383090 |=#& S50 13.50
=3 [T D61 L J1F A =1l 2383091 |=RZE 2 S51 5.00
=3 [T D61 LJ1# A =1l 2383091 |=RZE 2 S52 5.00
=3 [T D61 L J1F A =1l 2383091 |=RZE 2 S53 5.00
=3 [T D61 LI A AL 2383092 |=RE 3 SH4 10.00
=3 [T D61 LI A AL 2383092 |=RE 3 S55 10.00
=3 [T D61 LI A HiTLLI 2383092 |=RE 3 S56 13.00
=3 [T D61 L J1F A =1l 2383093 |=HRFE4 So7 10.00
=3 [T D61 LJ1# A =1l 2383093 |=ARFE4 S58 10.00
=3 [T D61 L J1F A =1l 2383093 |=RFE4 S59 10.00
=3 [T D61 L J1F A =1l 2383093 |=HRFE4 S60 1.00
=3 [T D61 L J1F A =1l 2383093 |=RFE4 S61 1.00
=3 [T D61 L J1F A =1l 2383093 |=HRFE4 S62 5.00
=3 [T D61 L J1F A =1l 2383093 |=HRFE4 S63 3.00
p= 3 [T D651 LJ1H A =1l 2383093 |=HRFE4 H7 2. 50
= [T | D6<1:) L1 A =1l 2383093 |=ARFE4 H8 4. 80
= [T 651N J[IES A ALl 2383094 |=RES H3 1.00
=3 [T [ D6<1:) J[IES A ALl 2383094 |=RES H4 2.00
= [T [ D6<1:) J[IES A HiTLL 2383094 |=RES H5 6. 40
= [T [ D6<1:) J[IES A HiTLL 2383094 |=RES H6 1.00
= [T | D6<1:) J[IES A HiTLL 2383094 |=RES H8 1.00
= [T | D6<1:) J[IES A HiTLL 2383094 |=RES H9 4.00
= [T [ D6<1:) J[IES A HiTLL 2383094 |=RES H11 3.00
= [T | D6<1:) J[IES A5 HiT Ll 2383094 |=R/RES H12 1.50
= [T | D6<1:) J[IES Rl A 2383100 [Hr il 548 4.63
= [T [ D6<1:) J[IES Rl A 2383100 [Hr il 549 6. 50
= [T | D6<1:) J[IES Rl A 2383100 [Hr il S50 1.88
= [T | D6<1:) J[IES Rl RER 2383101 |#iligE 2 S52 4.95
= [T [ D6<1:) J[IES Rl RER 2383101 |#iliE 2 S53 4.85
= [T | D6<1:) J[IES Rl RER 2383101 |#iligE 2 SH4 3.00
= [T | D6<1:) J[IES Rl RER 2383101 |#iligE 2 S61 2.00
= [T [ D6<1:) J[IES Rl RER 2383101 |#iliE 2 S62 1.00
= [T 61N J[IES R RER 2383101 |#iligE 2 S63 1.48
= [T [ D6<1:) L4t % s 2383110 % SH1 9.42
= [T [ D6<1:) [IES % s 2383110 % 552 9.56
= [T [ D6<1:) [IES % s 2383110 % S53 9. 64
= [T [ D6<1:) [IES % s 2383111 B2 S55 9. 64
= [T [ D6<1:) [IES % s 2383111 B2 S56 9.48
= [T [ D6<1:) [IES % i 2383111 #EE2 H1 4.35
= [T [ D6<1:) [IES % R 2383112 #53 S57 5.00
= [T [ D6<1:) [IES % R 2383112 #53 S58 5.00
= [T [ D6<1:) [IES % R 2383112 #53 H1 3.18
= [T [ D6<1:) [IES % iR 2383112 #%3 H7 3. 60
= [T [ D6<1:) [IES A= FEPN 2383113 BE4 S59 5.97
= [T [ D6<1:) [IES XE FIEPN 2383113 BE4 S60 4.50
= [T [ D6<1:) [IES t4 =] 2383114 #HES H2 10. 95
= [T [ D6<1:) [IES A= TH 2383120 [+ 3 S54 4.00
= [T [ D6<1:) [IES A= TH 2383121 |+ HFE 2 S61 4.22
= [T [ D6<1:) [IES A= TH 2383121 |+ HFE 2 S62 5.00
= [T [ D6<1:) [IES A= TH 2383121 |+ HE 2 S63 6. 00
= [T D61 J[IES A= TH 2383122 |£3# (£Y) S53 5.00
= I [T [ D651:) [IES A= TH 2383122 |£H# (2Y) SH4 0.54
= I [T D651 [IES A= TH 2383122 |£H# (2 Y) S63 0.33
= I [T D651 [IES A= A= 2383130 | K& S56 10. 00
= I [T D651 [IES A= AE 2383130 | K& S57 10. 00
= [T [ 5651:) IIES 1 Lo 2383140 |21 SH1 3.00
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Hhig T4 |E BT 4 REXF HKERF &S [ #h 4 W | EEmE
p= 3 [T | R L# /M =/ Jil 2383150 | %y 352 5.00
=3 [T DR L# /M =/ Jil 2383150 | %y 353 4.96
=3 [T DR L# /M =/ Jil 2383150 | %y S54 5.00
=3 [T DR L# L& X/ @E 2383160 |4 S48 5.00
=3 [T DR LA L& X/ ¥ 2383160 |4 549 2.00
=3 [T DR LA L& /X 2383170 |/ X 359 5.00
p= 3 [T DR LA L& /X 2383170 |/ X S60 5.00
p= 3 [T DR LA L& /X 2383170 |/ X H1 6. 00
p= 3 [T DR NIIES EYI0 AH 2383180 |#F S61 2.00
p= 3 [T D61 L# NE SLHI 2383190 |HH S61 5.00
p= 3 [T D61 L# NE SLHI 2383190 |HH 562 3. 80
=3 [T D61 L# NE 3L Hi 2383190 |HH S63 1.40
=3 [T D61 L# G2, BEIKER 2383200 |5 562 2.00
=3 [T D61 L# G2, BEIKER 2383200 |5 S63 1.71
=3 [T D61 L# G2, BEIKER 2383200 |5 H1 3.28
p= 3 [T D61 NIIES /M #H:E R 2383210 | #h:E iR H1 2.00
p= 3 [T D61 NIIES /M #H:E R 2383210 | #h:E iR H2 4.00
=3 [T D61 NIIES /M #H:E R 2383210 | #h:E R H3 4.00
=3 [T D61 NIIES /M FH:E R 2383210 | ##h:E iR H4 0.20
=3 [T D61 L# =En FRJIERLL 2383220 |FRJII H3 8.99
=3 [T D61 L# =En FRJIELL 2383220 |FRJII H4 8.00
p= 3 [T D61 L# =En FRJIELL 2383220 |FRJII HS 2. 60
p= 3 [T D61 L# =En tHH 2383230 |HH HS 4.79
p= 3 [T D61 L# =ER tHH 2383230 |HH H6 1.10
=3 [T D61 L# =FEn THH 2383240 |&H H6 12.10
=3 [T D61 NIIES # NS 2383250 |#=BHE H8 1.00
=3 [T D61 L# G2, NS 2383250 |#=BHE HY 1.00
p= 3 [T D61 L J1F G MUNE 2383250 |#EBHE H10 10. 50
=3 [T D61 LJI1#] 3l HE L 2383260 [/IML H8 3.00
=3 [T D61 LJI1#] 3l HE L 2383260 [/IML H9 2.70
=3 [T D61 L J1F 3l HE L 2383260 [/IML H11 3.00
=3 [T D61 L J1F S HE L 2383260 [/IvL H12 2.17
=3 [T D61 L)I# L& AXVYNA 2383270 | KYVNA H9 8.00
=3 [T D61 LI L& AXVNA 2383270 | KYNA H10 8.30
=3 [T D61 LI L& AXVNA 2383270 | KYVNA H11 8.00
=3 [T D61 LI L& XVYNA 2383270 | KYNA H12 3.00
=3 [T D61 L)IH X2 =R 2383280 | =R H11 3.00
=3 [T D61 L)IH X2 =R 2383280 | =13R H12 1.35
=3 [T D61 L)I# G = 2383290 |= H12 3.00
=3 [T D61 L)IH G = 2383290 |= H13 1.90
=3 [T D61 =) i A A 2384010 |#fK S48 14. 32
=3 [T D61 =) i A A 2384010 |#fK S50 15.00
=3 [T D61 =) i A R 2384011 |#AKEE 2 SH1 19. 86
=3 [T D61 =) i A JHRAE 2384012 |#8AK%E 3 S52 13. 84
p= 3 [T D651 =) i A JHRAE 2384012 |#8K%ZE 3 S62 1.00
= [T | D6<1:) =1+ A+R REAR 2384020 |HHIR 548 9.03
= [T 651N =14 A+R Ep 3 DES 2384021 |H+IRZE 2 S52 4.87
=3 [T [ D6<1:) =14 A+R Ep 3 DES 2384021 |H+IRE 2 S53 1.59
= [T [ D6<1:) =14 A+R Ep 3 DES 2384021 |H+IRE 2 S54 8.57
= [T [ D6<1:) =14 HH% =2/F 2384030 [N 549 15. 64
= [T | D6<1:) =14 HH% =2/F 2384031 |WIJIIZE 2 S51 9. 31
= [T | D6<1:) =14 HH% =/F 2384031 |WIIIE 2 S52 9.57
= [T [ D6<1:) =14 HH% Z 2384040 |45 S56 10. 7
= [T | D6<1:) =14 A+R A& 2384050 |% 1l S57 20. 00
= [T | D6<1:) =14 A+R A& 2384050 |£ 1l S58 20. 00
= [T [ D6<1:) =14 A+R A& 2384050 |£ 1l S59 20. 00
= [T | D6<1:) =14 A+R A& 2384050 |% 1l S60 0. 60
= [T | D6<1:) =14 A+R A& 2384051 | 2 S58 11.75
= [T [ D6<1:) =14 A+R A& 2384052 | IL%E 3 S60 9.30
= [T | D6<1:) =14 A+R A& 2384053 |&ILEE 4 H1 8.40
= [T | D6<1:) =14 A+R A& 2384053 |&ILEE 4 h2 20. 00
= [T [ D6<1:) =14 A+R A& 2384053 |&ILEE 4 H3 22. 00
= [T 61N =14 A+R A& 2384053 |&ILEE 4 h4 13.00
= [T [ D6<1:) =14 A+R A& 2384053 [#ILUZE 4 H5 12.20
= [T [ D6<1:) =)+ A+R A& 2384053 [#ILUEE 4 H6 8. 36
= [T [ D6<1:) =)+ B/ R sEErith 2384060 | ziR 548 5.00
= [T [ D6<1:) =)+ B/ R sEErith 2384060 | ziR 549 5.00
= [T [ D6<1:) =)+ B/ R sEErith 2384060 | ziR S50 6. 00
= [T [ D6<1:) =)+ B/ R s Erith 2384060 | ziR SH1 5.00
= [T [ D6<1:) =14 BR MBS 2384070 [#iR 548 4.68
= [T [ D6<1:) =14 BR MBS 2384070 [#iR 549 5.00
= [T [ D6<1:) =14 BR MBS 2384070 [#iR S50 5.00
= [T [ D6<1:) =14 BR MBS 2384071 |®IRE 2 S56 8.70
= [T [ D6<1:) =14 BR MBS 2384071 |®IRE 2 S57 0. 86
= [T [ D6<1:) =14 BR m 2384072 |®IRE 3 S60 9.46
= [T [ D6<1:) =14 BR m 2384072 |®RE 3 S61 5.00
= [T [ D6<1:) =14 BR N E 2384073 |®IRE 4 S62 10. 00
= [T [ D6<1:) =14 BR = 2384074 |B®IRES 4 5.00
= [T [ D6<1:) =14 BR b=gas] 2384074 |®IRES H5 0. 60
= [T [ D6<1:) =14 BR BTE 2384080 |&H:ZF S54 5.33
= [T D61 =14 BR BTE 2384080 |&H:ZF S55 6. 00
= I [T [ D651:) =)+ #BiR BTE 2384081 |HEFE 2 S55 17.55
= I [T D651 =)+ e B4R 2384090 |JiH SH4 8.49
= I [T D651 =14 a5 L/ 2384100 |&#H S53 9.54
= I [T D651 =14 a5 L/ 2384100 |&#H S54 1.79
= [T [ 5651:) =14 =28 L/ 2384100 |B# S55 1.00
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p= 3 [T | R =% 21+5 78 /MR 2384110 |F+5 S48 3.00
=3 [T DR =% 21+5 78 /MR 2384110 |F+5 549 3.00
=3 [T DR =% 21+5 78 /MR 2384110 |F+5 S50 4.00
=3 [T DR =% 21+5 78 /MR 2384111 |A+E% 2 351 2.00
=3 [T DR =% 21+5 Fa /MR 2384111 |A+E% 2 352 2.00
=3 [T DR =% 21+5 Fa /MR 2384111 |A+E5% 2 353 2.00
p= 3 [T DR =% 21+5 78 /MR 2384111 |A+E5% 2 S54 2.00
p= 3 [T DR =% 21+5 Fa /MR 2384111 |A+E5¥ 2 355 2.00
p= 3 [T DR =)I# 2+5 DIVAN 2384120 |7RIN S56 10.00
p= 3 [T D61 =)I# 1+5 JR7N 2384120 |7RIN So7 10.00
p= 3 [T D61 =ES) IR Mz Ll 2384130 | & S48 1.00
=3 [T D61 = JI1#¢ IR Mz Ll 2384130 | & 549 1.00
=3 [T D61 = )I4¢ A JRMA 2384140 |JIIA 359 10. 00
=3 [T D61 = )I4¢ A JRMA 2384140 |JIIA S60 5.00
=3 [T D61 =)I# A JRA 2384140 |JIIA S61 10.00
p= 3 [T D61 =)I# A JRA 2384140 |JIIA 562 0.30
p= 3 [T D61 =)I# i A JRA 2384141 |JIAZE 2 H13 3.20
=3 [T D61 =ES) A AERA 2384150 [RER S60 6. 00
=3 [T D61 = I+t A AERA 2384150 [ jER S61 5.20
=3 [T D61 = JI1#¢ A BEIRA 2384150 [FjEk S62 0.50
=3 [T D61 =)I# B E IR 2384160 |£ LR 562 4.00
p= 3 [T D61 = I B F IR 2384160 |£ LR S63 3.00
p= 3 [T D61 = )II4¢ B F IR 2384160 |£ LR H1 2. 69
p= 3 [T D61 = JI1#¢ INEHD & L 2384170 |/MfEdh S63 2.00
=3 [T D61 = JI1#¢ INEHD & L 2384170 |/MfEdh H1 4.00
=3 [T D61 = )I4¢ INEHD A Ll 2384170 |/MfEdh H2 2. 20
=3 [T D61 =ES) INEHD & L 2384170 |/MfEdh H3 3.00
p= 3 [T D61 =) INMEM A Ll 2384170 |/MfEdth H4 4.70
=3 [T D61 =)l A+R EAR 2384180 [KEAR S63 16. 61
=3 [T D61 =)l A+R REAR 2384180 [KEAR H1 5. 88
=3 [T D61 =)l A+R REAR 2384180 [KEAR H2 5. 80
=3 [T D61 =) A+R REALR 2384180 [KEAR H3 5.00
=3 [T D61 =) A+R REALR 2384180 [KEAR H4 3.00
=3 [T D61 =) HA+R REALR 2384180 [KEAR H5 1.80
=3 [T D61 =) A+R REALR 2384180 [KEAR H6 4.00
=3 [T D61 =)l A+R REAR 2384180 [KEAR H7 4.20
=3 [T D61 =)l h+s AEAR 2384180 [KEAR HY 4.15
=3 [T D61 = I+ i1+5 7g 1Ll 2384190 |mu & S63 2.00
=3 [T D61 = I+ 1+5 7g Ll 2384190 |@®~ & H1 1.00
=3 [T D61 =) &R A 2384200 | A% H7 6. 00
=3 [T D61 =) &R A 2384200 | A% H8 16. 65
=3 [T D61 =) &R AR 2384200 | A% H9 0.80
=3 [T D61 =) &R AXMmE 2384201 |A#E 2 H13 5.00
=3 [T D61 = Il H &R AXMmE 2384201 |AHE 2 H14 2.28
p= 3 [T D651 = Il H PN TRY 2384210 |[[HIR H8 4.00
= [T | D6<1:) = JIA 5+5 AZEH 2384220 |FE/IMHIR H10 5.00
= [T 651N =14 5+5 AZEH 2384220 |F&/IMHIR H11 1.00
=3 [T [ D6<1:) =14 5+5 AZEH 2384220 |F&/IMHIR H12 8.00
= [T [ D6<1:) =14 5+5 AZEH 2384220 |F&/IMHIR H13 9.00
= [T [ D6<1:) =14 5+5 AZEH 2384220 |F&/IMHIR H14 6.15
=3 [T D611 =144 1+5 AZEH 2384220 |F&/IMHIR H15 5.70
#im | BT¥EET HFEET il KER 3206010 |51 S50 2.98
#im  |BT¥EET HFEET il KER 3206010 |51 SH1 2.97
#im  |B¥EET HFEET sl KER 3206010 |51l 552 3.91
#im | BT¥EET ok =it EFRAE B 3206020 |48 S57 3.00
#im  |BT¥EET ok =il EFRE B 3206020 |48 S58 4.00
#im  |B¥EET Eoiki =it EFRE B 3206020 |48 S59 3.00
#im | BT¥EET ok =it EFRE 12 3206020 |48 S60 0.50
#im  |BT¥EET BT T R AR 3206030 |#Zik S60 4. 80
#im  |B¥EET BT T R AR 3206030 |#Zik S61 6. 00
#im | BT¥EET BT T iR AR 3206030 |#Zi% S62 3.40
#im  |BT¥EET HFEET T & L 3206040 |l S62 5.00
#im  |BT¥EET HFEET T & L 3206040 |l S63 5.00
Him  |FFEAT ok =il Tl & L 3206040 il H1 1.00
Him  |FFEAT ok =it Tl [ L 3206040 il H2 9.50
#Him  |FEAT HFEET N5 fELL 3206050 | K8 S63 4.00
#Him  |FFEAT HFEET N5 fELL 3206050 | K8 H1 4.00
#Him  |FFEAT HFEET N5 fELL 3206050 | K8 H2 0.80
#Him  |FEAT HFEET PN fELL 3206050 | K8 4 2. 20
#Him  |FFEAT ok =it Tl Al 3206060 |HEEL H3 9.70
s  |FEAT ok =it L3R EXE 3206061 |HEBIE 2 H9 4.00
#Him  |FEAT ok =it L3R EXE 3206061 |HEBIE 2 H10 4.25
#Him  |FFEAT ok =it E5TR EXE 3206061 |HEBIE 2 H11 2. 50
s  |FFEAT ok =it I = 3 3206070 [1LA 4 6. 00
s  |FEAT ok =it I = 3 3206070 [1LA H6 2.00
#Him  |FFEAT ok =it I = 3 3206070 [1LA H7 2.00
s  |FFEAT ok =it N =3 3206070 [1LA H8 2. 60
s  |FEAT HFEET KB +h 3206080 |XkE H5 8.00
#Him  |FFEAT HFEET XE +h 3206080 |XkE H6 1.00
s  |FFEAT ok =it HE —/ Ei5 3206090 [HE H6 3.00
#im | BT¥EET ok =it HE —/ Ei5 3206090 [HE H7 2.59
Him  |FFEAT HFEET HE —/ Ei5 3206090 [HE H8 1.35
Him  |FEAT HFEET EFHRE ke 3206100 |#A+E H12 5.00
Him  |HEAT HFEET EFHRE ke 3206100 |#A+E H13 1.00
Him  |HEAT HFEET EFHRE ke 3206100 |#A+E H14 4.50
#im  |FFEAT HFEET EFRE ke 3206100 |#A+E H15 1.00




[ tth4E 5 B EE iR

Hhigg GilES] |H I ET A REX R&=F Mith&E S SibiuE MR | EEmE
5 |FEET pp=IIIES] i 3308010 |i& H1 5.00
5 |FEAT =L i 3308010 |i& H2 5.00
5 |FEAET pp=IIIES] i 3308010 |i& H3 3.00
5 |FEAET pp=IIIES] i 3308010 |i& H4 1.70
5 |FEET pp=IIIES] TLUH 3308020 |TFILUH H5 3.00
5 |FEAET pp=IIIES] TLUH 3308020 |TFILH H6 2.00
5 |FEAET pp=IIIES] TLUH 3308020 |TFILUH H/ 1.49
e [RR™ R ET KR 3218010 |BETF S48 2.99
e [RR™ RRT ET KR 3218010 |BETF S49 2.87
e |RR™ AR ET KR 3218010 |BETF S50 4.47
oe |ART AR INEELL INER 3218020 [XK& S52 3.00
;e |RRh AR INEELL INER 3218020 [XK& S53 3.00
;e |ART ARt INEELL INER 3218020 [XK& SH4 4.00
e |RR™ AR Kigk R 3218030 |JE\#% S60 3.00
e |RR™ AR Kigk R 3218030 |JE\#% S61 3.00
e |RR™ AR Kigk R 3218030 |JE\#& S62 4.00
e |RR™ AR Kigk R 3218030 |JE\#& S63 5.00
e |RR™ AR /INLUH A3 3218040 |/MLH H1 6.00
e |RR™ AR /INLUH Ah 3 3218040 |/MLIH H2 5.00
e |RR™ AR /INLUH AR 3218041 |/MUHEEE 2 Sb4 3.67
e |RR™ AR Kigk R 3218050 | K& H4 3.00
e |RR™ AR Kigk R 3218050 | K& H5 1.97
oe |ART AR Kigk R4 3218050 |[XKjEk H6 0.16
e |RR™ ySE/N] rtFE AL 3322010 | FPRE SH2 4.00
e |RR™ AT ¥AHT rtFE AL 3322010 | FPRE SH3 2.93
e |RR™ AT ¥AET rtFE AL 3322010 | FPRE Sh4 2. 77
e |RR™ AT ¥AET rtFE AL 3322011 | EPEE2 SH8 4.00
e |RR™ LRENiY rtFRE AL 3322011 | EPEE2 Sh9 4.00
o5 |BART LSRN rtFRE AL 3322011 | EPEE2 S60 3.00
o5 |BART LSRN rtFRE AL 3322011 | EPEE2 S61 3.00
5 |BART LSRN rtFRE AL 3322011 | EPEE2 S62 2.70
5 |BART LSRN T#2)l i 3322020 |2 )1 S53 3.97
5 |BART LSRN T#2)l i 3322020 |2 )1l Sh4 3. 64
o5 |BART 1 FAHT T#2)l i 3322020 |2 )1l Shh 3.70
s |RAR™ LSRN T g5t 3322020 |#2]1l S61 4.00
o5 |BART LSRN T#2)l i 3322020 |#2)1l S62 8.00
5 |BART LSRN T#2)l i 3322020 |2 )1 S63 2.40
e |RR™ A HAET JIIA F ) RE 3322030 |JIHIA Shh 4.00
e |RAR™ A HAET JIIA F ) RE 3322030 |JIHIA Sh6 5.00
s |RAR™ A HAET JIIA F /) RE 3322030 |JIHIA Sh7 5.30
s |RAR™ LSRN JIIA —~%0 3322031 |JIIREE 2 SH8 3.99
s |RR™ LSRN JIIA —~%0 3322031 |JIIREE 2 S59 6.00
e |RAR™ LSRN JIIA —~20 3322031 |JIIREE 2 S60 5.00
e |RR™ LSRN JIIA —~20 3322031 |JIIREE 2 S61 3.18
e |RAR™ LSRN NGRS FUA 3322040 |Z YA S63 8.00
5 |ART LSRN ES =2 3322050 |&ZE S63 1.67
5 |ART FTHART ES =2 3322050 |&ZE H1 7. 66
5 |ART FTHART ES =2 3322050 |&ZE H2 2.00
5 |ART FTHART ES =2 3322050 |&ZE H3 0. 38
5 |ART FTHART ES =2 3322050 |&ZE H4 0.10
e |RAR™ FTEET ZH i 3322060 |3% H1 2.00
e |RAR™ FEET ZH i 3322060 |3% H2 3.00
s |RAR™ FTEET ZH i 3322060 |3% H3 3.00
e |RAR™ FTEET ZH i 3322060 |3% H4 3.00
e |RAR™ FEET ZH i 3322060 |3% Hb 1.34
s |RAR™ FTEET HER FA 3322070 |gEiR H4 3.00
e |RAR™ FTEET HER FA 3322070 |gEiR Hb 3.30
e |RAR™ FEET HER FA 3322070 |gE; H6 3.00
s |RAR™ FTEET HER FA 3322070 |gE; H7 3.00
e |RAR™ FTEET HER FA 3322070 |gE; H8 2.61
e |RAR™ FEET Al Fir K 3322080 |RBIFR H7 2.95
s |RAR™ FTEET Al Fir KiE 3322080 |RBIFR H8 1.47
e |RAR™ FTEET Ba] 575 B 48 M 3322090 |fA] 5B #E H8 3.57
e |RRET S EN] R K 3322090 (BT a/RpE iR H9 3.37
e |RART SEN) [DEE HH# 3322090 |l 5B #E H10 2.80
e |RAR™ T HNET [DEE HH# 3322090 |l 5B #E H11 1.58
s [RR™ T HART &= [EES 3322100 | H H9 1.36
s [RR™ SETNG] #E [EES 3322100 | H H10 3.58
iE [RR™ SEING] #E [EES 3322100 | H H11 1.24
s [RR™ SEIN:] MEB K72+ 3322110 | K2+ H9 2.24
s [RR™ SEIN:] MEB K72+ 3322110 | K2+ H10 1.78
iE [RR™ T HART HE E 3322120 |#&E H12 6.00
s [RR™ T HART HE E 3322120 |#&E H13 3.65
s [RR™ SEIN:] #E [ZZ YR 3322130 |IZC YR H13 3.50
s [RR™ SEING] =) [ZZ YR 3322130 |IZC YR H14 6.00
s [RR™ SETN:] #E [ZZ YR 3322130 |IZC YR H15 8.70
5 |PERSH % HHET RH T 3301010 |{&H S48 0.99
5 |PERSH % HHET RH T 3301010 |{&H S49 2.18
5 |PERSH % HHET RH T 3301010 |{&H S50 1.90
5 |PERSH A hE 3R 3304010 |HER S63 3.00
5 |PERSH A hE 3R 3304010 |H%E:R H1 4.00
;5 |FERST A hE BER 3304010 |HER H2 4.30
;5 |FERSH T hE BER 3304010 |HER H3 0.60
;5 |FERSH T Hi% YA 3304020 |Hi% H6 2.00
;5 |FERSH T Hi% YEX 3304020 |Hi% H7 2.18
;5 |FERST T Hi% YA 3304020 |Hi% H8 0.12




[ tth4E 5 B EE iR

3 : : = —
%ﬁiz Bﬂ”;%g? z l?—fmﬁ _fEAF | RRF | HRES BiEeE wE | EEE
5 WD L 2 Z AL 3304030 |,5iR H13 2.00
8 [l EN]ES] R AR 3304030 [:8iR H14 .50
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I [Tk = J)[F] LA o 3311050 |T &R Hb 0.15
I [Tk = JTH e JMESL 3311060 1/NE# S62 3.00
I [Tk = JTH e JMESL 3311060 1/NE % S63 9. 00
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Em (@ EE 2 bR 3311101 |7A55 2 H14 1.00
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EW |E@n  [Emm RHEfELA i 4202011 [t 2 14 076
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£ (EEH e L TR 4215010 | E#H S57 400
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Hhigg GilES] |H I ET A REXF R&=F Mith&E S SibiuE MR | EEmE
EiE | ERE| mET A g 4215090 |&Z#EH H5 0.60
EiE | ERE| mET A B4R 4215091 |ZEA/FE 2 H10 5.80
EiE | ERE| mET A B4R 4215091 |ZEARFE 2 H11 6. 20
EiE | ERE| mET A B4R 4215091 |ZEARFE 2 H12 3.18
EiE | ERE| mET +ig NI 4215100 | k18 H5 7.00
EiE | ERE| mET +ig NI 4215100 | k18 H6 3.08
EiE | ERE| mET +ig NI 4215101 | FIEEE 2 H6 3.10
EiE | ERE| mET +ig NI 4215101 | FIEEE 2 H/ 1.89
EiE | ERE| RET INE =YER 4215110 |/\hNE S62 0.53
EiE | ERE| RET INE =YER 4215111 [INEE 2 H/ 5. 75
EiE | ERE| RET INE =YER 4215111 [/NEE 2 H8 1.70
EiE | ERE| RET Al AU FiR 4215120 Al H13 2.95
EiE | ERE| RET Al AU FiR 4215120 Al H14 2.18
EiE | ERE| mET Nl INER 4R 4215121 |AJIEE 2 H16 5.09
EiE | ERE| 5 % AT FA/R Bl 4401010 |Ei#% H/ 2.00
EiE | ERE| 5 % AT FA/R Bl 4401010 |Ei#% H8 6.00
EiE | ERE| 5 % AT FA&/R Bl 4401010 |Ei#% H9 5. 48
EiE | ERE| 5 B AT FA/R Bl 4401010 |Ei#% H10 1.13
EiE | ERE| 5 % AT FA/R Bl 4401011 | Bk 2 H11 1.00
EiE | ERE| L % AT FA&/R Bl 4401011 | Bk 2 H12 3.90
EiE | ERE| % B BT FA/R BEitk 4401011 | Bk 2 H13 2.23
EiE | ERE| 5 % AT RTE il 4401020 ;R F& H9 1.00
EiE | ERE| 5 % AT RTE il 4401020 ;R TF& H10 0.79
EiE | ERE| 5 R AT RTE il 4401020 ;R TF& H11 0.91
EiE | ERE| 5 % AT RTE il 4401020 iR TF& H12 3.18
EiE | ERE| L % AT prEadil| HZZ 4401030 |H= H11 0.50
EiE | ERE| 5 % AT prEadil| HZZ 4401030 |H= H12 3.50
Eifl | KR 5 B T & 2 4401030 2 H13 2. 07
£ [ERETH = EHfT HA EDIR 4402010 |8 Sh4 3.68
£ [ERETH ==T0) A EDIR 4402010 |8 Shh 2.43
£ [ERET INE BT FZh ;h/ | 4502010 |ILUZ=E S49 4.93
£ [ERET INE BT Fh ;h/ | 4502010 |ILUZ=E Sh0 10. 00
£ [ERETH INE BT Fh ;h/ | 4502010 |ILUZ=E Sh1 2.50
£ [ERET INE BT INE L MR 4502020 B S48 3.00
£ [ERETH INE BT INE L MR 4502020 B X S49 7.00
£ [ERETH INE BT INE L MR 4502020 B X Sh0 9.20
EiE | ERE| ANEL) JINEF =5 4502030 |/\FEF Sh1 8.00
£ [ERET ANEL) JINEF =5 4502030 |/\FEF S52 4.00
EiE | ERE| ANEL) HEFIR —/ X 4502040 |tEEY]R Sh2 3. 91
£ [ERET INE BT zES G —/ X 4502040 |tEEY]R Sh3 4.00
EiE | ERE| ANEL) HEFIR —/ X 4502040 |tEE7]R Sh4 3.89
EiE | ERE| ANEL) HEFIR z /)X 4502041 |#BEF/REE 2 H3 1.71
EiE | ERE| ANEL) HEFIR =/ X 4502041 |4BEF/REE 2 H4 4.86
£ [ERET INE BT zES G $fi = B 4502050 |I=%E Shh 4.7]
£ [ERETH INE BT zES G $fi = B 4502050 |I=%E Sh6 5.83
Ei [EMh INESL] HEE &5 =8 4502051 [IR$BE 2 H4 4. 40
Ei [EMh INESL] HEFE &5 =8 4502051 [IR$BE 2 H5 5.19
Ei [EMh /NE BT HEFE &5 =8 4502051 [IR#BE 2 H6 0.59
EiE | ERET /NEIBT EIR FX 4502060 |i&iR S56 3.00
EiE | ERET /NEIBT EIR FX 4502060 |i&iR S57 11.44
EiE | ERET /NEIBT EIR X 4502060 |i&iR Sh8 6. 96
EiE | ERET /NEIBT EIR X 4502060 |i&iR Hb 0.60
£ [ERT /NEI BT 1R £iR 4502070 [Z= &4 S52 3. 82
£ [ERT /NEI BT 1R £iR 4502070 [Z= &4 S53 780
£ [ERT /NERT R £iR 4502070 [=& M S54 3 85
EiE | ERET ANEL) R B/ R 4502080 |Eim Sh8 5.00
EiE | ERET ANEL) R B/ R 4502080 |Eim Sh9 10. 54
EiE | ERET ANEL) Fh THIR 4502090 |FHFSt S60 6.79
EiE | ERET ANEL) Fh THIR 4502090 |FHFSt S61 7. 60
EiE | ERET ANEL) + HHET aiR 4502100 |=HHET S62 7.96
EiE | ERET ANEL) + HHET aiR 4502100 |=HHET S63 1.10
EiE | ERET ANEL) FARR X 4502110 |F8R H1 4.00
EiE | ERET ANEL) FHRR X 4502110 |F8R H2 8.00
Kifl | EEH ANEL) FARR XX 4502110 |F8&R H3 5.50
Kifl | EEH ANEL) EXR KES 4502120 |iE&E=X H7 3.00
Kifl | EEH ANEL) EXR KES 4502120 ;&R H8 2.00
Kifl | EEH ANEL) EXR KES 4502120 ;&R H9 1.32
Kifl | EEH IMNE BT R ¥/ 4502130 |#&;R H10 4.56
Kifl | EEH IMNE BT R ¥/ 4502130 |#&;R H11 1.85
Kifl | EEH JII O BT JII O #0RE:E mEER 5441010 |FOREE S60 2.95
Kifl | EEH JII O BT JII O #0RE:E mEER 5441010 |FOREE S61 4.00
Kifl | EEH JII O BT JII O #0RE:E mEER 5441010 |FOREE S62 3.00
Kifl | EEH JII O BT JIIOFmEE k. / & 5441011 |FO0Fa;E5E 2 H2 3.40
Kifl | EEH JII O BT JIIOFmEE k. / & 5441011 |FO0Fa;E5E 2 H3 1.59
Kifl | EEH JII O BT JIOBEZELL JRALL 5441020 |HZ L S61 1.00
Kifl | EEH JII O BT JIOBEZELL JRALL 5441020 |HZE L S62 3.00
Kifl | EEH JII O BT JIOBEZELL JRALL 5441020 |HZE L S63 5.00
Kifl | EEH JII O BT JIOBEZELL JRALL 5441020 |HZ L H1 1.35
Kifl | EEH JII O BT JIOBEZELL JRALL 5441021 |HZEILEE 2 H1 6. 40
Kifl | EEH JII O BT JIOBEZELL JRALL 5441022 |HZEILE 3 H1 4.69
Kifl | EEH JII O BT JIOBEZELL JRALL 5441022 |HZEILE 3 H2 10. 50
Kifl | EEH JII WY JIOEZE L JRALL 5441022 |HZEILE 3 H3 7. 91
Kifl | EEH JII WY JIOEZE L EZA 5441023 |HZEILE 4 H4 2.40
Kifl | EEH JII WY JIOEZE L EZA 5441023 |HZEILE 4 H5 1.45
Kifl | EEH JII WY JIOEZE L pNIT 5441024 |HZEILES H5 4.50
Kifl | EFEH JII WY JIOEZE L pNIT 5441024 |HZEILES H6 1.50
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Hhigg GilES] |H I ET A REXF R&=F Mith&E S SibiuE MR | EEmE
EiE | ERE| JI| O HT JIOHEZEL JIIA 5441025 |HZELE 6 H6 9.17
EiE | ERE| JI| O |7 JIOHEZELL JIIA 5441025 |HZEILE 6 H/ 9.30
@ |=%&T =& E PN EiR 4204010 (&8 S59 5.37
@ |=%&T =&m E PN EiR 4204010 [5:8 S60 6.10
K |=%&H T HA b=yl =5 4362010 |dtFEEFIII Sh?2 2.66
K |=%&H T HA b=yl =5 4362010 |dtFEBFIII SH3 4.00
K |=%&H T HA b=yl =5 4362010 |dtFEEFII Sb4 6. 00
K |=%&H T HA b=yl =5 4362010 |dtFEEFII S60 0.34
Eff |=%&mh TR pan | i 4362020 |;X0 Shh 5.00
K |=&mh TR IO i 4362020 |;20 Sh6 5.60
i |=&mh TR =] S 4362030 |44 Sh1 7.00
K |=%&mh TR =] S 4362030 |44 SH8 6.49
K |=&mh TR =] S 4362030 |44 SH9 0.49
i |=%&mh TR =] S 4362031 |4 BE2 H3 2.90
i |=%&mh TR =] S 4362031 |4 BE2 H4 3.32
K |=&mh TR =] S 4362032 |44 BE3I H5 4.60
i |=&mh TR EmsA IR 4362040 |E@sA S61 3.00
K |=%&mh TR EmsA IR 4362040 |E@sA S62 3.00
K |=&mh TR EmsA IR 4362040 |E@sA S63 3.00
i |=%&mh T HEA EfsA IR 4362040 |EqsA H1 2.50
i |=%&mh T HEA EfsA IR 4362040 |EqsA H2 0.80
K |=&mh TR :EN /. A 4362050 |EHA S61 3.00
i |=&mh TR :EN /. A 4362050 |EHA S62 3.00
i |=&mh TR :EN /. A 4362050 |EHA S63 3.00
K |=&mh TR :EN /. A 4362050 |EHA H1 2.50
i |=%&mh TR :EN /. A 4362050 |EHA H2 3.178
i |=%&mh TR :EN =/ IR 4362051 |BHAEE 2 H1 0.97
i |=&mh THH EN =/ R 4362051 |HHAE 2 H2 2. 31
i |=&mh THH EN =/ IR 4362051 |HHIBE 2 H3 1.90
i |=&mh THH EN =/ IR 4362052 |HHAE 3 H5 4.73
i |=&mh THH EN R/ A 4362053 |HIAE 4 H6 6.86
EM [=&m™ T H# Eabi: ] Y& 4362060 |dhsiE H3 4.43
EM [=&m™ T H# Eabi: ] Y& 4362060 |dhsiE H4 4.58
EM [=&m™ T H# Eabi: ] B 4362060 |dhsiE H5 0.30
EM [=&mH T H# Eabi: ] B 4362061 |H@EE 2 H8 2.36
i |=&mh THH EN /. A 4362070 |i%/ A Ny 2.29
i |=&mh THH EN /. A 4362070 |iz/ A SH8 1.39
i |=&mh THH EN R/ A 4362080 |EFT/ A H6 4.35
i |=&mh THH EN R/ A 4362081 |FHFT/ AE 2 S47 2. 77
i |=&mh THH KR v/ & 4362090 |Hitth H8 6. 50
i |=&mh THH 42T hyvvs 4362100 |&TF H9 2.50
i |=&mh THH 42T hyvvs 4362100 |&TF H10 9.65
i |=&mh THH 42T hyvvs 4362100 |&TF H11 1.96
i |=&mh T H# 2T 5 =XEVH 4362101 |2 TE 2 H9 2.50
Rl [=&mh T H# 2T 5 =XEVH 4362101 |2 TE 2 H10 1.50
il |=%&mh TH# 2T 5 =XEVH 4362101 |2 TE 2 H11 417
il |=%&mh THH 2T [/ KXH 4362102 |2 T%E 3 H13 5.05
il |=%&mh THH 2T fH./ XH 4362102 |2 T%E 3 H14 4.83
il |=%&mh TR TX# pN=E-A 4362110 | KHEZ H12 3.85
il |=%&mh TR R H KR 4362120 |ExH H12 5.00
il |=%&mh TR R H KR 4362120 |ExH H13 3.30
il |=%&mh TR R H KR 4362120 |ExH H14 1.80
il |=%&mh TR R H KR 4362120 |ExH H15 6. 88
il |=%&mh TR R H Bl 4362121 |ERHEHZE 2 H16 3.00
il |=%&mh g INE R 4363010 |/N\3& Sh2 3.00
il |=%&mh FKHT INE R 4363010 |/N\3& Sh3 4.00
il |=%&mh FKHT INE R 4363010 |/N\3& Sh4 3.00
il |=%&mh g 8 s 4363020 |dt:8 H3 8.50
il |=%&mh FKHT itiE s 4363020 |dtid H4 6. 60
il |=%&mh FKHT 8 s 4363020 |dtid Hb 1.36
Kl [t TH AT HHEs KR 4205010 |$B#% S48 10. 57
Kl [t TH A& T Hl % KR 4205010 |$B#% S49 3.00
Kl [t TH AT HHEs KR 4205010 |$B#% Sh0 10. 36
Kl [t H AT HHEs KR 4205010 |$Hi% Sh7 0. 38
KE [t TH s H KE E3E 4205020 |/KE S51 12.00
KE [t TH s H KE E3E 4205020 |/KE S52 18. 00
KE [t TH AT Kk E3E 4205020 |/KE S53 14.97
KE [t TH AT Kk E3E 4205020 |/KE S54 2.00
KE [t TH s H KE &/ R 4205021 |/KEEE2 S54 3.00
KE [t TH AT Kk &/ R 4205021 |/KEEE2 Shh 20. 00
KE [t TH AT KE &/ R 4205021 |/KEEE2 S56 15. 00
KE [t TH s H KE &/ R 4205021 |/KEEE2 S57 8.10
KE [t TH AT Kk &/ R 4205021 |/KEEE2 H1 1.00
KE [t TH g Th KE =YiR 4205022 |/KEZE3 H8 5. 41
KE [t TH g Th Kk =YiR 4205022 |/KEZE3 H9 1.77
KE [t TH g Th Kk =YiR 4205022 |/KEZE3 H10 6.49
KE [t TH g Th KE =YiR 4205022 |/KEZE3 H11 1.13
KE [t TH AT HE JEAR 4205030 |HE S48 10. 00
KE [t TH AT HE JEAR 4205030 |HE S49 7.00
KE [t TH AT HE JEAR 4205030 |HE S50 10. 00
R [f8&H aEh HE JEAR 4205031 |HESE 2 S51 5.00
ER [f8&H A% HE B\ 4205031 |HEE 2 S52 3.00
ER [f8&H A% HE B\ 4205031 |HESE 2 S53 2.00
ER [f8&H A% H = ZAX 4205040 |—A X Shh 3.00
ER [f8&H A% H = ZAX 4205040 |—A X S56 4.00
ER [f8&H A% H = ZAX 4205040 |—A X S57 3.00
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Hh 1§ T ET# |B BT A REXF REF Hith F=S Ml £ R | EEmEE
KR [tAEm AT AE — 32X 4205041 |= B XE 2 S58 3.00
Em |aBm BT AE —AX 4205041 | =4 XE2 S$59 4.00
RE |#EGtH T HE —4AX 4205041 [Z A XE2 S60 3.00
RE |tk T B2 E EEYF 4205050 =/ & S58 14.50
RE |tk T B2 E EEYF 4205050 =/ & S59 9.55
RE |tk T B2 E EEYF 4205050 =/ & S60 6. 94
RE |tk T B2 E EEYF 4205050 =/ & S61 5. 60
RE |tk T B2 E EEYF 4205050 =/ & S63 2. 60
KR |t T B2 E EEYF 4205050 =/ & H1 1.85
KR |#EGH T B2 E EEYF 4205050 =/ & H3 0.06
KR |#EGH T B2 E TEH 4205051 =/ EE2 H1 1.00
KR |#EGH T B2 E TEH 4205051 |=/ ZEE 2 H2 0.94
KR |#EGH T AEIR HHEAA 4205060 | H3 1.33
KR |#EGH T AEIR HHEAA 4205060 %2 H4 4.08
KR |#EGH T AEIR HHEAA 4205060 %2 H6 2. 69
KR |#EGH T AEIR B 4205070 |HE1E H5 1.76
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